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= 253,500
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< 826,902
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FSHAIE 2el 906, 108 913,772 NT,664
=k 29 593, 166 500, 192 92,974
Fs=EXa2 AlE 22l 531,416 411,942 119,474
101 Q124 H| 2,932 2,791 141
04 JI2tHZ22ESE+ 2,932 2,791 141
023252 FHFY 25
73,2803 x221x20 2,932
201 et gy| 361,324 358,491 2,833
01 At 22|l 47,324 10,491 36,833
QU EIIE FEHFL =2 100,000 x12& 1,200
O=23t=Xal2 SAD| &dX= 165,000 *122] 1,980
O=2st=Xal2 dio & H=J| &X=
442 ,000& 123 5,304
QItEHITI| X = 35,0002 *2o1 =121 & 840
O=2st=Xal2 2SN 29
2,000,000& 14! 2,000
OMEZY Xz 500,000& *42] 2,000
OAldzte] A28 S35+ 5,000,000& 14! 5,000
QANHEEL =2 25,000, 000& *14] 25,000
Ozs=Xsgl2 tEA M 7Y
4,000,000% 14 4,000
02 5223l 314,000 348,000 A 34,000
032232 & HA 150,000, 000& * 14! 150,000
O =4l 20,000, 000& *14] 20,000
OA &&= X bl 40,000, 000& *14] 40,000
O8t=2E3t0l=22Hez Al
4,000,000& 14! 4,000
O=2st=Xal2 FAL 2 MSAE Fizel <
SR 90,000, 000& *14] 90,000
OZs=X3g2 HA U L 28 FHA /g
10,000, 0003 » 14! 10,000
202 04l 2,160 2,160 0
01 = LHGYI 2,160 2,160 0
O=2st=Xgl2 JRFE ol
120,000 x6 % *33] 2,160
401 A& HI YL 20| 165,000 42,000 123,000
01 Al&HI 165,000 42,000 123,000
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SN 2HHSD
Hm: 2sAE 2e
ool 2s=Xs2 2Y (e & 2)
- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK '(EI&OEH HuE2
O=a=nad >898 JtA2de] wHMBA
150,000,0002 * 14! 150,000
© Slola (AT BAY, G0Y) FATY &
x| 15,000, 00021 *14! 15,000
~9% 29 12,750 14,750 A2,000
201 YEr2 Y| 12,750 2,750 10,000
01 AbR 22l b 12,750 2,750 10,000
OIS T Lsr2 | 1,000,0002! %14} 1,000
CEEEA=:E 1, 50024 *50004 750
OASIA U Zoa HIRE 7Y
50,0002 +5% *43] 1,000
0+¥F AE 7Y 10,000,000+ 14! 10,000
Zoy 2y 49,000 73,500 24,500
201 YBr2 Y| 29,000 27,000 2,000
01 AbR2t2|H] 19,000 17,000 2,000
oseIYl A 15,000, 00021+ 14! 15,000
© BYF SUAE FIIQFFAA
4,000,00021 %14} 4,000
02 ZZ2YH| 10,000 10,000 0
OTUY ALII RX 24|
10,000, 00021+ 14! 10,000
401 Al 2HIL 2 0H | 20,000 44,000 24,000
01 Al 20,000 44,000 24,000
OTF 2401013 =t M
20,000, 00021+ 14! 20,000
us9gE 29 83, 156 91,350 ~8, 19
asggs 22l 83, 156 91,350 ~8, 19
201 YBr2 Y| 83, 156 81,350 1,806
01 AbR2t2IH] 11,156 2,350 8,806
oYsAYE Lo 1,000,0002! %14} 1,000
OYBAYE SHFAHIG YXE
16,000+7CH 122 1,344
OUSAYE F4I| UME  38,500+1CH+122 462
OYBAYE ZEA BA SE 7Y
900,0002 * 14! 900
OYBAYE =S L ATEN ME
450,0002 14! 450
ONEFZ 242 7,000,000+ 14! 7,000
02 ZZ2YH| 72,000 79,000 A7,000
OBZ22 2 HA 15,000,0002! * 14! 15,000
ooz 3,000,00021 %14} 3,000
OAEFY S 5,000,00024 %14} 5,000
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SN 23HSD
M3 2atAle B
o9l ABAYE 2 (et @
- _ - &E
SN B CR(BH) - MRAY - BES Ol &t o S dImEET
ON3E ANEE2 8B 448
1,000,002 x23] 2,000
OYBIYE Y 22 AR ALEY
45,000,000% * 144 45,000
OYEAYE U2 L 2= HA
2,000,000% * 14! 2,000
YU25s 2zl 87,786 76,400 11,386
Y25 el 87,786 76,400 11,386
201 LBttt 17,786 16,400 1,386
01 AR 2t2lH] 6.386 0 6.386
OANEEY 242 5,000,000+ 14! 5,000
OSst2 H)| YXE 38,5008 30122 1,386
02 ZT2YH| 11,400 16,400 A5,000
02222 ¥ MM 6.000,000% * 14! 6.000
OAERE S 3,000,000% * 144 3,000
ONBBAILES HHBH 242
1,200,002 x23] 2,400
401 Al &8I L 2 THH| 70,000 60,000 10,000
01 AIZHI 70,000 60,000 10,000
OS2 oI BAIWETAL 70,000,000 14! 70,000
Y HE 22 142,000 245,830 103,830
YHUE 22 142,000 245,830 103,830
201 LBt 142,000 186,720 A44,720
01 At 22l 27,000 56,720 £29,720
OAME Yur2) 3,000,000% * 14! 3,000
ORZME ASFH AR2 44|
5,000,000% * 14! 5,000
OANETY 242 15,000,000%14} 15,000
OUAHE BABA WR L MYIISE 2
4,000,000+ 14! 4,000
02 ISl 15,000 130,000 15,000
02222 ¥ MM 60,000,000% * 144 60,000
ONEFHIS L] 10,000, 0002 14! 10,000
ORHME HABE FASBY
45,000,000% * 14! 45,000
23tz &S 1,037,438 1,255,986 681,452
ol 118,454
= 63,749
2 1,755,235
S EBA KR 613, 100 617,700 4,600
= 6. 160
2 606,940
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23t s
sl 85
EtMl=AL XI& (el &3
% = &
SN BB S(E) - BHAYS S dImEET
LAZH 2 560,000 558,000 2,000
201 et Fy| 3,000 3,000 0
01 AtR2teltl 3,000 3,000 0
OZ st A 3,000,000& 14! 3,000
307 2I2+0I A 557,000 555,000 2,000
04 QIRHHALAIRI E X 557,000 555,000 2,000
OLAZSIH HAXHA(BEFA)
342,000, 0003 * 14 342,000
0YUS Y A X2
40,000,000 14! 40,000
OMNH 2A25tH A XIR
35,000, 000& *14] 35,000
O&=LH 2t b X
35,000, 000& *14] 35,000
OB=H 22 At X
35,000,000 14! 35,000
Odgd 22 b X
35,000, 000& *14] 35,000
OYBE AY A KIS
35,000,000 14! 35,000
HESSEA X& 14,300 14,300 0
307 212+01 A 14,300 14,300 0
04 QIRHHAIAIH E X 14,300 14,300 0
oOYAS =2E 4,300,000 14! 4,300
ONH HES A 2,000,000& 14! 2,000
o&2H HEE 2,000,000& 14! 2,000
O8=% S 2,000,000& 14! 2,000
O8dH 2SS 2,000,000& 14! 2,000
OZEH 28 2,000,000& 14! 2,000
ZoIZste 23 3,400 3,400 0
201 LetEdy| 3,400 3,400 0
01 AtR2teltl 3,400 3,400 0
CELIEI-PNEN BN
70,0003 1021 %23 1,400
Oz =3ty 2,000,000& 14! 2,000
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s 9,240
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s 9,240
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d3: Islls M8
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= 9,240
20l 0L X 20,000 20,000 0
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SE=S =54 471,902 295,923 175,979
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307 eI+l 30,000 30,000 0
02 QItFAAMNHEE 30,000 30,000 0
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02 QI BHAMNHE X 228,770 0 228,770
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ON72l d=stAled 27,000,000& 14| 27,000
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OFBtAI WA SHAISUZ ZIF 3,600,000 14! 3,600
O=3tstn =239 9,500,000 =14 9,500
OStHAI RS FAIREE & 22 X2 st=AM0l
Lt 25,600,000& * 14| 25,600
03 elnHMEE2SHIE2xE 193,132 175,523 17,609
oLzt Q2| 171,712
OAtR=g 212 51,553
-Jl2s 2,856,700 122 34,281
-g2=¢ 1,142,680& *23| 2,286
-ItE=E 40,000 *12& 480
-Ag2x| 165,000 x 12 1,980
-SAHS A 140,000 x 12 1,680
-ES0H 1,714,020 *23] 3,429
-EIANES 714, 1753 +43) 2,857
“AHEE (MENRES) 380,000 12 4,560
OArR tE o121 50,273
-Jl2s 2,774,4003 128 33,293
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SN 2SHS
d3: Zslls M8
cel: BE23 |4 (eto): &2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
-g2=¢ 1,387,200& *23| 2,775
-Ag2x| 155,000 x 128 1,860
= 140,000 x 12 1,680
-HESOMI 1,664,6403 *23| 3,330
-EIANES 693,600 43 2,775
“AUEE(ANEXNRES) 380,000& 12& 4,560
OAtRA elA4H((1) 36,908
-Jl2s
1,950,300& x2&+2,042,300& 103 24,324
-g2=¢ 390,060& x1214510,570& * 12l 901
-ItE=E 40,000 12 480
=R | 145,000 x 12 1,740
-SHS A 140,000 x 12 1,680
-E-ESIT
1,170, 1803 *12]+1,225, 380 +14] 2,396
-EIANES 506, 7403 ~43] 2,027
-AHEE (A TRES) 280,000 x 12 3,360
OAMSRAJ QIA4H|(2 32,978
-J23
1,720,400 x2&+1,773,600& 10 21,177
-g2=¢ 172,040 1314266, 040& * 12l 439
=g 80,0002 *12& 960
-Ag2x| 145,000 x 128 1,740
-SAHZG A 140,000 122 1,680
- E R0
1,032,240 x12]+1,064, 1602 * 12 2,097
-EIANES 441,183 *43] 1,765
-AHEE (M TRES) 260,000 x 122 3,120
oxL=zsA 2| 21,420
O=2gH] 21,420
=70 300,000& x4 7| 1,200
-dEr2dyl(27, 437Y 8)
300,000& x4 7| 1,200
-3 A7 QA 6,000& «250= 1,500
= el 200,000& <24 400
NEASE 520,0003 =14 520
- F A 2,500,000& =14 2,500
-=3R2= 300,000 *x12& 3,600
-SSR SH0IX 24l 750,000& 42| 3,000
-3 2,000,000& * 14! 2,000
“HANE 2 MHALE A=
3,500,000 =14 3,500
-2X3 ABEH| 2,000,000& * 14! 2,000
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2AM: EetHs
M 250s A8
¢t SEERS =4 (A= &
SN B G(EN) - MBEAY - BES Ol ate e HIDE2
Zststn 29 20,000 20,000 0
& 10,000
o 10,000
307 QI2+0I A 20,000 20,000 0
& 10,000
= 10,000
02 QIRHE A AL E X 20,000 20,000 0
OE3tstl) ALY At X2
20,000, 0002 =14 20,000
L= 10,000
o 10,000
=2 23AHIA MB 852,436 342,363 510,073
| 118,454
& 47,589
i 686,393
2AE 230=AL KR 249,786 111,513 138,273
L= 20,000
i 229,786
201 LBr2Ed| 25,680 25,680 0
01 AL 22l bl 5,680 5,680 0
O3z MNBINEIIS /ARG EF&xE
70,0003 *1221%23| 1,680
OLZE =M B2 1,000, 000& *43] 4,000
03 A2 F | 20,000 20,000 0
oOAuS SHEA M= 10,000, 000& *23l 20,000
301 LetE8NZ 5,000 5,000 0
09 HALAHIXIAZ 5,000 5,000 0
OLZE AL &0 24 5,000,000 =14 5,000
307 SI2toI & 179,106 80,833 98,273
02 QIZtAAMAIEE X 95,196 0 95,196
oLANE S =H 16,380,000 & » 14 16,380
QLA S HAEY 9,697,000 =14 9,697
O AU =X &2t 6,000,000 =14 6,000
OLA=AHAUS 5,000,000 14 5,000
oLA=AEs FIILH3 8,750,000 14 8,750
O&FEAYE WX 5,000,000 =14 5,000
oAz Lt ¥ 2N
6,000,000 =14 6,000
OLA0I=E3l 3AH 5,569,000 14 5,569
OFAHE D=xZE 3201& 3,600,000 14 3,600
OLA0I=Esl AHHdLZH 1,100,000 =14 1,100
OLAAREIIEG FAM 8,000,000 =14 8,000
OLUAHBNME 9,900,000 =14 9,900
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Sl 20 2EAMHIA KT (S5 A2
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osHs8%3l 10,200,0003 14| 10,200
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ogddus 2ZANA 71,130
OAIR=& 212 39,0561
-JlEs 2,173,400& «12& 26,081
-2+ 326,010 +434,680 761
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= e | 155,000& 122 1,860
-SAHG A 140,000 12 1,680
-HESII 1,304,040 *23| 2,609
-EIANES 185,000& 122 2,220
AU EE (A 280,000 x 12 3,360
OAtR Dt o1 32,079
-JlEs 1,720,400 x12& 20,645
-g32+g 172,0402 =23 345
-JtE+g 80,0002 *12& 960
-Ag2x| 145,000 x 12 1,740
-SAHG A 140,000 12 1,680
-HESIHI 1,032,240 #23| 2,065
-EIANES 147,000& 122 1,764
AU EE (A 240,000 122 2,880
oZ2ZEs =22 12,780,000 *1JH 2 12,780
308 AHXIEHHMSOI S 40,000 0 40,000
S 20,000
= 20,000
1 SIS0 HetH & E IS AL 40,000 0 40,000
oxs dans X 40,000,000 14| 40,000
< 20,000
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< 17,000
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S 17,000
= 17,000
02 QItHMAMNHE X 34,000 34,000 0
o0l =3tas 59 A&
34,000,0003 =14 34,000
< 17,000
= 17,000
S3TA2 K& 15,000 15,000 0
308 XX EHHMSOIH 15,000 15,000 0
08 WEI| 20t E = 15,000 15,000 0
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FA 2HF S
MM 23R =29 U Bel
Sl HASEUSY 2 (Sl & e)
o - = PSEE
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
| ougd =22 yse 50,0002 *14! 500
SAMNRHEES AR E 2 6,000 7,000 1,000
201 Zet=dhl 6,000 7,000 1,000
01 At 22l 3,000 4,000 1,000
o m=22H 3,000,000 =14 3,000
02 3323 3,000 3,000 0
OolRmE 28= 3,000,000 =14 3,000
HSAIRASES2 HA2Y 10,000 5,000 5,000
201 Zet=dhl 10,000 5,000 5,000
01 At 2t2ld 10,000 5,000 5,000
O&Al & MEAE RXl2el
10,000,000 14| 10,000
E3 2&2el 3,949, 150 2,421,282 1,527,868
= 253,500
Jl 102,075
S 749,673
= 2,843,902
=S 23 22l 1,706,400 1,890,800 A 184,400
= 253,500
< 696, 150
= 756,750
E3M 2+FH| 517,900 86,100 431,800
101 14| 7,500 6,500 1,000
04 JIZtN 22 NS 2+ 7,500 6,500 1,000
O3 (H=2) &3 ARAS
150,000 x5& *102] 7,500
201 fet2 4| 8,000 8,400 A400
01 AtR2telH 8,000 6,000 2,000
O3t (=22) 2 U2 - 3l2+g
200,000& *x221%102] 4,000
O=ati H&Ed & =M
200,000& * 1071 A *22] 4,000
202 044 2,400 1,200 1,200
01 =W oLl 2,400 1,200 1,200
o=zt el - oot R
20,0003 »53] x2H *128 2,400
207 AN E I 50,000 0 50,000
01 A= 4 50,000 0 50,000
OSEZsRE ZAISH 50,000, 0003 14! 50,000
401 AIEHIZL 2 0HYI 450,000 70,000 380,000
01 AlEHI 450,000 70,000 380,000
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SN =0
E3H 2&2el
SE=23HM 2el (el &
. - - N
SA - EHH . C(S) - MRAY - BAS S HI DS
O HatAL HE HESS LK
80,000, 0002 141 80,000
= 56,000
S 12,000
= 12,000
SAAF EAHIO M2 A8 A& 500,000 800,000 300,000
LS 500,000
402 212t XH=01A 500,000 800,000 A300,000
LS 500,000
02 QIEXEAMSE X (01X THE) 500,000 800,000 300,000
O &AL EEAHI0 HS2 A X2
500,000,000 * 14! 500,000
LS 500,000
HNE2 & SE2M E+FHXa (2 & 30,000 0 30,000
HAX COlEAE T2 FHI)
= 21,000
S 4,500
i 4,500
401 Al HIZ SO 30,000 0 30,000
= 21,000
& 4,500
= 4,500
01 Al€H| 30,000 0 30,000
Ot MMALK Col&AtE M2 HH|
30,000,0003 141 30,000
= 21,000
S 4,500
i 4,500
HNE23M & SSE2H 2T (2L 2 230,000 0 230,000
M2l B MAIZ SAUSBAL)
= 69,000
& 80,500
= 80,500
401 Al HIZL 20l 230,000 0 230,000
= 69,000
S 80,500
= 80,500
01 Al€Hdl 230,000 0 230,000
02| SF HAIZ SALLTA
230,000,000 * 14! 230,000
= 69,000
& 80,500
= 80,500
HNE2S & SE2M E+FHXa (2 = 135,000 0 135,000
Ab Sl SESSAICIEEl 2 Al ZE 722 ol
SH 22sS M= £H)
= 94,500
S 20,250
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=N

X ZH -
o=

30 MO HO
0@ toi fou
Mo = =
o - 0
> =
=y
g

(et

EEE

!
x

CEHB . C(SIH) - NIRAIY - BES 0l et

=[x

i

12H
Es
£
Ol
0

HJ

20,250

401 Al HI L 20| 135,000 0 135,000
94,500
20,250
20,250

HH W

01 AI&HI 135,000 0 135,000
Odl=22d 2els MW= &I
135,000, 000& * 14| 135,000

94,500
20,250
20,250

HH

Mo
k_gj
10
Y
sl
w
)]
02

186,150 186, 150 0
102,075
25,223
58,852

H X

SN H&FHIA X & S 141,150 141,150 0
70,575
21,173
49,402

H X

101 QI24H| 141,150 141,150 0
70,575
21,173
49,402

M

04 JIZHZ22NSE =+ 141,150 141,150 0
OZ3H(HAAL L&) HEAFHI R HiX
28,230,000% 5H 141,150

70,575
21,173
49,402

H X

S LIHAIE sRI2e 45,000 45,000 0
31,500
4,050
9,450

M

201 ZBt24] 45,000 45,000 0
31,500
4,050
9,450

M

02 3522l 45,000 45,000 0
= (&A1) HHEXIAIE |2

45,000,000 * 14! 45,000
31,500
4,050
9,450

H

SEESMN 2l 2,056,600 56,600 2,000,000

28,300
2,028,300

M H1

SERN 52 NEAY 45,600 45,600 0
22,800

H
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A 2atdsn
M ZoM BE=22
ool 226 2el (ct9: M2
SA SR (S) - MRAY - BAS il &t e RS2
s 22,800
301 LB F 45,600 45,600 0
L= 22,800
i 22,800
12IIEt2 43 45,600 45,600 0
Ok RSN 853 K&
45,600,000 14! 45,600
L= 22,800
i 22,800
FHIAM(SHE#A) BS XA 11,000 11,000 0
L= 5,500
i 5,500
307 SI2toI & 11,000 11,000 0
L= 5,500
i 5,500
02 QIZtAAMAIHE X 11,000 11,000 0
Ok REE3HM SHEAL X&
11,000,000& * 14! 11,000
& 5,500
i 5,500
FEEM A2 X 01 2,000,000 0 2,000,000
401 A& HI YL 20HHI 2,000,000 0 2,000,000
01 Al&HI 2,000,000 0 2,000,000
OYsEW EX(HS) HY
2,000,000,000x 14! 2,000,000
HEAIEA3 S 1,210,043 1,393,664 A 183,621
HMSAE 2tel 1,210,043 1,393,664 A 183,621
2R EHSAE 72l 222,820 390,276 A 167,456
101 el 24| 18,320 17,776 544
04 JI12tM22sEs 18,320 17,776 544
OLTAZHMSAIE(BHSHAOIESE) SHEA
L =H SZFFYI 73,2803 *2521 x6H A 10,992
OARSHEANL HERY o9
73,2803 +2021 53] 7,328
201 LBr2Ed| 103,600 92,600 11,000
01 At 22|l 21,600 2,600 19,000
OXM=AY StEA F3X =HE
300, 000& *2JH 2~ 600
oAldze dxt= 15,000, 000& » 14! 15,000
o272 MESAME 24 6,000,000& 14! 6,000
02 2322l 82,000 90,000 28,000
OXM=EAE 233 40,000, 000& =14 40,000
Ox71E MEAE SX2el 20,000,000 14! 20,000
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Bl

Ho Ho ko

|
20 24

B

Z=x=

oy
w2
02

A= E9I(E) - ARAY - BaS e HIDE
OAAE HAEH 22,000,000 14| 22,000
202 044 900 900 0
01 =W oddl 900 900 0
OMSAE 2X2el &
20,0003 152 +3¢2! 900
401 Al HIZ SO 90,000 265,000 A175,000
01 Al€H| 90,000 265,000 A175,000
OA72 MSAIE |XE= 50,000,000& 14 50,000
OMTBZ D& &l 5,000,000& *42] 20,000
O6MHEH AHOIESH AXEL 2=
20,000,000 14! 20,000
405 Aok S| 10,000 0 10,000
01 MM =S F S 10,000 0 10,000
OAARMEAL 27 (00A, HHIl, &
Z21E) 10,000,000 14 10,000
SAAUMF2 Ald2tel 109,500 121,600 212,100
201 £et2E| 99,500 99,600 A100
01 At22telH 10,900 2,000 8,900
OdUHE2 24 2,000,000& =14 2,000
OYX=(H==2 .4t &) 8,900,000 * 14 8,900
02 3323 88,600 97,600 /9,000
OFSPIRTS=] 1,800,000& *12& 21,600
OA& &8l =Xbl 20,000,000& = 14| 20,000
osdll =2+ 150,000 x 1294 & 1,800
O#ot=ER= 100,000 x 12 1,200
OHM3BAIE=E AHHBH =2
1,500,000& *23| 3,000
O2UHM=s2 FA2el < 40,000,000 14 40,000
OCaUHE2 =43 N+ F4
500,000& 22| 1,000
401 Al HIZ SO 10,000 20,000 210,000
01 Al€H| 10,000 20,000 210,000
OAUMSE2 AIEE S22
10,000,000 141 10,000
gE2sd Ald2el 317,088 273,226 43,862
101 2124H| 7,328 6,976 352
04 JIZtN 22 NS 2+ 7,328 6,976 352
ZeesSy FHIY 22y
73,2803 202! %53 7,328
201 Zet=dhl 164,760 147,250 17,510
01 At 22l 26,000 4,000 22,000
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==l R
HMEALEd
HSAE 2 oA
SA B SRA(EH) - MTAY - BAS e HIDE
osgzsd 24 2,000,000& * 14! 2,000
OYXZ (=1, 8Ll S) 23,000,000 14! 23,000
oZsezsd MEssSA =7 HR=
1,000,000& * 14 1,000
02 3323 138,760 143,250 A4,490
OsE=sd 83k= 98,760
OEE2sT SEEAAAEH RAACES
350,000 x12& 4,200
OCCTVR A 24 780,000& «12& 9,360
Osg=2sd 2 3,000,000& * 14! 3,000
OZ82SE SYIHLEY
1,200,000& *23] 2,400
Osgzsd ks 4,000,000 122 48,000
OZS2SSH 45+523
2,000,000 *12& 24,000
Osg=2sd SeEa 400,000 ~6& 2,400
Osdl =XNE+ 150,000 x 12 1,800
OZgEsd JIetsE2=  300,000& *123 3,600
osg2sd FAEY 40,000,000 14| 40,000
401 AIEHIZL 2 0HYI 145,000 112,000 33,000
01 Al€H| 145,000 112,000 33,000
OZE=EsE RAHL 145,000
OZH2ST AR WEHAY ST B2
g9 70,000,0003 14 70,000
Osg2sd AMErl2d
20,000,000 14| 20,000
OZEREH +2/NEY
30,000,000& 14| 30,000
Oo&a& CCTVL Al 25,000,000& * 14| 25,000
AOIZ2ZIIE AlE 22l 344,556 332,430 12,126
101 14| 23,450 22,324 1,126
04 JIZtN 22 NS+ 23,450 22,324 1,126
OAOIZ2E01E =gl =Y
73,2802 202! %102] 14,656
OZSTUEZ FHEH URY
73,2803 202! +62] 8,794
201 £et2E| 205,706 185,706 20,000
01 AtR2telH 24,346 4,346 20,000
OAOIZ8IE 24 3,000,000 =14 3,000
OAMOIZ2ZJIE LD Xz
12,1003 x 141 %122 146
OMOIZ2EINE e =HE L =8
100,000 x 141128 1,200
oY= (H==21. 4t ) 20,000,000 14| 20,000
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2AM: 2HSY
HH: NSAEEY
S MSAIE 22 (che &S
= = PSLE]
2AH -3 ..SA(ZAH) - HIRAIS - BHAES Ofl AFoH 'Oﬂ'&oEu Hunsz2
02 S3&gH| 181,360 181,360 0
03322 % HMA 65,000, 0003 »14] 65,000
OAIE &Y |XiH| 20,000,000 * 14! 20,000
OANEEE =2 12,000, 0003 * 1Al 12,000
OAIOIZ2EII&E CCTV S A2t
730,000& *12& 8,760
OMOI2EIIEY =283 N+ HA
800,000& 23] 1,600
OAOIZ2HIIE HA2e| 40,000,000 x14] 40,000
OAMOIZ2EIIE 24HelAl4 22|
22,000,000& * 14! 22,000
OAMOIBHIE FRUs & 2S3A Y
12,000,000& x 14! 12,000
202 04d| 2,400 2,400 0
01 =ZLHO Bl 2,400 2,400 0
OAMOI2EIE HRFX oYl
120,000& x221%103| 2,400
401 A& H| L2 0HH| 90,000 115,000 A25,000
01 Al&H] 90,000 115,000 A25,000
OAIOI2AHD & 2 E RIES 2Y
35,000,000& * 14! 35,000
OAOIZ2HIIE E2EM 15,000, 000 & * 1Al 15,000
OAIOI2EIIE ANAEE S22
20,000, 000& »14] 20,000
OUHARUYE &4-2E 20,000,000 * 14! 20,000
405 Kt S HI 23,000 0 23,000
01 ML EEFSHI 23,000 0 23,000
OANIOILIA! o XY &I 20,000,000 14 20,000
otz 2das ol WX 3,000,000 14! 3,000
NEA HOISE AlE 2tel 24,691 13,761 10,930
101 Q124 H] 13,191 12,261 930
04 JI2tHIZ2E2XNSE X 13,191 12,261 930
OBMXH D& &H| o182 73,2803 *821x103] 5,863
OXN&EI HOtSR =83y o2
73,2802 *1021%103] 7,328
201 2Bt A | 1,500 1,500 0
02 S3&gH| 1,500 1,500 0
03322 % AMERAXH 1,500,000& 14! 1,500
401 Al EHILE0HYI 10,000 0 10,000
01 Al&H] 10,000 0 10,000
OBWXZJI& Al XlI2tel 10,000,000& x 14! 10,000
=0IHSFHE AlE2e] 116,128 166,026 A\49,898
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SN 2SS
M MsSAE2d
& M=AIE Zel (che &S
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k||—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
101 124 H| 7,328 6,976 352
04 JIARDERS 4 7,328 6,976 352
OZBIHMSHE FeFH 212Y
73,2803 +2021 53] 7,328
201 et gy| 98,800 97,050 1,750
01 At 22|l 14,200 3,200 11,000
OBLMSHEH 2 2,000,000 %14} 2,000
ORVIHSHE INE SHEL +42
100,000& 123 1,200
OYX= (E=I],4l0l S) 11,000,000 14! 11,000
02 2322l 84,600 93,850 29,250
O=0UXN=HH 3323 39,600
OSEEOAAE RI2ES
350,000& =128 4,200
OFMEH 3,000,000 =14 3,000
OIS 1,800,000 x12& 21,600
OsZIIRNES 200,000& =128 2,400
OHot+=E2= 400,000& =128 4,800
OJIEtEZER=s 300,000& =12& 3,600
O=2N=sHE &HA2e 45,000, 000 =14 45,000
401 Al L = OH bl 10,000 50,000 240,000
01 A&l 10,000 50,000 240,000
OZLN=FHE AldE2 RX2e
10,000,000& * 14! 10,000
LAMETFHE Al2tel 75,260 96,345 A21,085
201 Yer2 | 65,260 36,396 28,864
01 At 22|l 12,860 3,346 9,514
OLAMETSHYH 24 2,000,000 14 2,000
OLAMETY UMY FIEHTI| =3
100,000& x1&l 128 1,200
QUAMETY FHMEH ZAHII| JX=Z
55,000 141128 660
ogxtz (d=J],810 S) 9,000,000 =14 9,000
02 23234l 52,400 33,050 19,350
OALMUENSHE SR 52,400
OFMESH 3,000,000 =14 3,000
OoMIIR2B 1,000,000& *123] 12,000
OHot+=ER2= 400,000& 123l 4,800
OJIEtEZER=s 300,000& *122] 3,600
OMEBXSHE 222l 29,000,000 14 29,000
401 AIEHI L 20HYI 10,000 20,000 A 10,000
01 Al&HI 10,000 20,000 A 10,000
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SN 23S D
M MSALBY
Sol: MSAlE 2e CERE
) _ - A
SN ZH - S(S) - MRAY - BAS Ol &t o S dImEET
OYSMMSHE N2+
10,000, 00081 *14! 10,000
SRS B 25t 10,898,266 5,627,001 5,271,265
b 229,093
< 13,480
= 10,655,693
Hsgs 4 1,199,074 1,428,481 £229,407
b 229,003
< 13,480
= 956,501
s 2835 X2 558,624 532,237 26,387
201 L2 Y| 20,000 20,000 0
01 At 22l 20,000 20,000 0
OYHAFC =2F 22| 20,000, 00024 * 14! 20,000
307 212101 & 528,624 512,237 16,387
03 IZHEHHE 2R & 528,624 512,237 16,387
OYYRMFS 22 XY 432,820
OMNR2F 61,569, 000!+ 1% 61,569
o 47,515, 5008 4% 190,062
O2FAH 36,501,0002! 2% 73,002
OHSHSX St 40,627, 0008+ 1% 40,627
O4H2 B (AL 2L D) 4,792,5002 6% 38,340
OSI==YZ 3,652,5002 *8 29,220
OYYRHFS 2YHl NB 95,804,000 14! 95,804
402 QI XH2O0I B 10,000 0 10,000
01 QIZHXHZ AL B (R TH ) 10,000 0 10,000
OMAL=ZZH BH 10,000, 00081 *14! 10,000
024 HSES XY 148,206 146, 160 2,046
b 74,103
2 74,103
307 BI2+0I 148,206 146, 160 2,046
b 74,103
= 74,103
02 QI A AA B 148,206 146, 160 2,046
OUZAMSHES NS tHXI
3,087,6202 x4 * 1204 = 148,206
b 74,103
2 74,103
MEHSEZRIY 29 20,000 20,000 0
< 10,000
2 10,000
307 BI2+0I 20,000 20,000 0
< 10,000
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2AM: 2aHS
M 2LHs ¥ Lt
&4 d=gs 54 XJ (A =&
SN B S() - MBAY - BAS e HlDS2
= 10,000
02 QIRHAAAIHE X 20,000 20,000 0
OMEN =LY 2H 20,000, 0003 »14] 20,000
& 10,000
= 10,000
MEH =3 29 110,550 100,220 10,330
307 2I2t01 & 110,550 100,220 10,330
03 QIZIHHMBEER2IHIEE 110,550 100,220 10,330
OMEXNEA HIMHA 110,550
OMESXNEX MM K& 110,550
-=4dl 140,000 x 1121 x12& 18,480
TR=1s] 100,000 x11C1x12& 13,200
=25 60,000& *11Q1x12& 7,920
-tEsg 50,000& *11Q1x12& 6,600
-HE SOt 1,233,000& * 1121 %23 27,126
-2 170,000 x11C1x12& 22,440
42 E 50,000& *11G ~12& 6,600
-ERNE S 62,0002 * 115~ 12& 8,184
MBHSICK 2 12 177,848 175,392 2,456
| 88,924
= 88,924
307 2I2t0I & 177,848 175,392 2,456
| 88,924
= 88,924
02 QIRHB AAIHE X 177,848 175,392 2,456
OMEMXNE A BIXI 2,470, 110&x6H *12& 177,848
| 88,924
= 88,924
OHO! ME X=X HHXI 29,641 29,232 409
| 14,821
= 14,820
307 2I2t0I & 29,641 29,232 409
| 14,821
= 14,820
02 QIRHE AAIHE X 29,641 29,232 409
OZOHe!l M= XA Ui X
29,641,000& »1H 29,641
| 14,821
= 14,820
Al H=Ug X2 22,000 22,000 0
201 Lt | 18,000 18,000 0
01 At 22|l 18,000 18,000 0
oM=U3z XN 234l 5,000, 0003 *14] 5,000
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A 2atdsn
MM QUHS BW s
ool HSES S4 X9 (Eto): &2
SA SR (S) - MRAY - BAS il &t e RS2
OXd=H? AOIZ2Ual XI¥ 23]
13,000,000& * 14 13,000
202 o44| 4,000 4,000 0
01 =LHGYI 4,000 4,000 0
oxs M=sts X 100,000 x4 X *103| 4,000
SOM=UE K& 29,000 29,000 0
202 04| 2,000 2,000 0
01 =L YI 2,000 2,000 0
OZ2HM=la & XA 400,000 +5H*13] 2,000
301 LB F 27,000 27,000 0
09 HALAIHIXIAZ 27,000 27,000 0
OMA B2 MY 29
27,000, 0002 =14 27,000
AZE2N 01EA XA 19,805 31,680 211,875
| 13,865
& 2,970
o 2,970
301 LEEF 19,805 31,680 211,875
| 13,865
& 2,970
o 2,970
01 A2 EE 23613 19,805 31,680 A11,875
OAZ=0|8d 2% 19,805,000& 14 19,805
| 13,865
L= 2,970
i 2,970
AZ=0OPNE 2435 10,000 10,000 0
201 LBr2Fd| 10,000 10,000 0
01 AL 22l bl 10,000 10,000 0
OAZ=0IAE 23] 10,000, 000& * 14 10,000
ZOHel AT =2E 0|2d A 3,400 2,560 840
| 2,380
L= 510
i 510
301 LB F 3,400 2,560 840
| 2,380
& 510
o 510
01 A2 EEE 062 3,400 2,560 840
OFOHel A=2E 0|23 3,400,000 *14] 3,400
| 2,380
L= 510
i 510
ItaSHA ATXAM XY 70,000 0 70,000
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A 2atdsn
Hm: SUHS IV Ys
ool MSES sS4 Y (Eto): &2
= X XH Ct2l (S = o HASZ OH x‘—-IL'i'E =2}
Tkl'ox—|'|_|"l‘|(21)")'k||—rA|'|=|"l£o—1 0:"‘&'—| O:H&.OH t”DLEI:I
| 35,000
s 35,000
308 AtXIEHHSOIA 70,000 0 70,000
| 35,000
i 35,000
08 WEI|2UUEEER 70,000 0 70,000
OJtasa AT=A XY 70,000, 000& *14] 70,000
| 35,000
s 35,000
MEAE &= 8,765,000 3,397,900 5,367,100
MEHSIIZ LA 3,000,000 604,000 2,396,000
401 A& HI YL 20HHI 3,000,000 604,000 2,396,000
01 Al&HI 2,700,000 604,000 2,096,000
Oy dENM=SE ZEMY
1,500,000, 000& 14! 1,500,000
OHIYUEX & XNEHE=S 24|
1,200,000, 000& * 14! 1,200,000
02 Zeldl 300,000 0 300,000
OFY MEBHSIY TLAY L2
300,000, 000& » 14! 300,000
2 O=E s A 2,158,000 0 2,158,000
401 Al HI L2 0HHI 2,158,000 0 2,158,000
01 Al&HI 2,158,000 0 2,158,000
OYY HHSHHFR YA
2,158,000, 0003 » 14! 2,158,000
&Y ST ASMEY 2,267,000 1,683,000 584,000
401 Al HI L2 0HHI 2,267,000 1,683,000 584,000
01 Al&HI 2,067,000 1,683,000 384,000
u SSE HE ALY 2,067,000,0003 14! 2,067,000
02 Zeldl 200,000 0 200,000
oYY U ARVAY L2IB A
200,000, 000& = 14! 200,000
Uy EEHALZXEIZ LAY 1,080,000 0 1,080,000
401 A& HI YL 20| 1,080,000 0 1,080,000
01 Al&HI 1,080,000 0 1,080,000
OUY BHALXEIR ZLAY 2HEAL
F(HE) L AALEAHEH 530,000
530,000, 000& » 14!
OHIYUEX & XNEHE=S 24|
550,000, 0003 » 14! 550,000
A% P2 ZTHEY SHEAZ 200,000 0 200,000
401 A& HI YL 20| 200,000 0 200,000
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SN 28HS
o FARS BY L3
Sl HSAL =5 (cte &
X _ o Sl
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu HuE2
01 Al&t] 200,000 0 200,000
OSEUSSE AT B
200,000, 000! * 14} 200,000
B =90 ZESSAE EHAY 40,000 0 40,000
401 A HIL ST 40,000 0 40,000
01 Al&t] 40,000 0 40,000
OBE2SANE THAY &)
40,000,0002! 14| 40,000
LBE MBTSTHE T 20,000 0 20,000
401 AlEHIL S THY| 20,000 0 20,000
01 Al 20,000 0 20,000
OYBE MEBHSTH THAY JI2A4 o
Ets FAE Y| 20,000,0002! * 14! 20,000
aole 29 934,192 800,620 133,572
ol2d+ sS4 X 934,192 800,620 133,572
201 Lt | 15,000 15,000 0
02 2Bl 15,000 15,000 0
OAMOI2E AISZRXI22l 1,250,008 «128 15,000
202 O1H| 1,000 1,000 0
01 2LHOIH| 1,000 1,000 0
OFICHS| AOIZHE BX 22
1,000, 0002 * 12! 1,000
301 LY EHZ 878,192 754,620 123,572
02 ZeZ U2 28,000 24,000 4,000
OAOI2 &4 SIXZ XA 4,000,0008 79! 28,000
100£Ee - 2SRSRA2 830,192 710,620 119,572
OAOIBH % Q121 830, 192
0J123 4,500,0002! 10211224 540,000
Oz 4G 200,0002 201 %122 4,800
ouHEE 10,000,002 * 14} 10,000
OELL 30,0002 * 10212802 84,000
OFXES UL S|
700,0002 *1091+03] 63,000
On =l 1,000,0002! 105 +23] 20,000
§1x3 5,000, 0002 *3¢! 15,000
O4ZE (AL X2SZ) 648,800,000 < 58,392
O+ o YasS=| 200,0002 *10% 2,000
Oage S=l 3,000,00084 *14! 3,000
Ol gl 10,000, 0002 *3% 30,000
12 JlEtR &2 20,000 20,000 0
o3 25 ZA3 2,000,0008 %103 20,000
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AN 2=
HE: NS W st
s AlflE 2y (69 &2
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
405 Aok S| 40,000 30,000 10,000
01 et =S FSHI 40,000 30,000 10,000
OAOIZ HOIN & 25 78
40,000,0003 14} 40,000
HH2SIH (2= 412,101 362,958 49,143
2SI (2SS M) 325,040 262,158 62,882
I 2SHI(2SHF M) 325,040 262,158 62,882
101 14| 325,040 262,158 62,882
012+ 83,259 67,648 15,611
Oozuz2=2+g 10,8413 %480 Al 2tx162! 83,259
03 SRA(PIIAHL)Z22XE+ 241,781 194,510 47,271
O+=g& el AFRY 58,272
Osgz2e=xg 17,0102 «6 21 x24 & % 150% 25,275
Os2Z224¢(10022/50)
17,0102 x6 21 x94 & x50% 32,997
OsEsHEAIE2 2 80,623
Osgz2esg 110, 2153 %721 x52& % 150% 60,178
OFL22+<(100=22150)
110, 2153 721 x532 x50% 20,445
O2uit|dAIR A Z 2 2222y 38,385
Osgaesd 115,617 3 x4 01 %24 150% 16,649
OFL22+<(100=22150)
115,617 *421x942 x50% 21,736
OZMEW SFAH Al2te=<
21,939 «35A| 2128 70 4 64,501
=gl (23S 1) 87,061 100,800 A13,739
Jl2gdl (23S 87,061 100,800 13,739
201 2=yl 62,906 78,170 A15,264
01 AtR2telH 56,906 50,170 6,736
O=z=ksl2 =38 SI/HAZZ X TI=H|
500,000 «6 & 3,000
O2ite|dAIR RSS2 SIIAHS2Z A U=
500,000& *32+300, 000& * 1 1,800
OMSAE RIHSZZ A UI=HI
500, 000& *2Z+300, 000& +7L 3,100
oL =SH(SHEY) 49,006
Ogtt=24| 15,220,000 14| 15,220
O2g+g(L=2Hl) 21,570,0003 =14 21,570
O= &gl 6,816,000 14 6,816
ogxz 5,400,000& * 14! 5,400
02 3323 6,000 28,000 A22,000
Oxtg =XAl2 6,000,000 =14 6,000
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M 2SI
Y HYRAAL(2SHSD)
o JI2ZBl(2sME) (=& )
SA SR (S) - MRAY - BAS il &t e RS2
202 04| 18,500 17,300 1,200
01 = LHGYI 18,500 17,300 1,200
QJIZ2HR=F 18,500, 000& » 14! 18,500
203 HRF&H| 5,655 5,330 325
04 EN2ILRF 5,655 5,330 325
ORA2IHR 5,655,000 * 14 5,655
HREs (23S 860,000 878,535 A 18,535
LHEHH K= 860,000 878,535 218,535
WHWEHH X = 860,000 878,535 218,535
eIIsdEs 860,000 878,535 218,535
01 JI3dE= 860,000 878,535 218,535
O=2stl=d= =
860,000, 000& * 14 860,000
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